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IMosicHuTEILHAS 3aIIMCKA
BcerynurensHOE UCHBITAaHWE TPENIONIAraeT MPOBEPKY 3HAHWK aOWTYPUEHTOB,

MOCTYNAIIINX MO pe3yJibTaTaM WCHBITAHUN, OPraHU3yeMbIX BY30M. OK3aMEH IS
MOCTYMAIOIIUX B MarucTpaTypy NpoBOAUTCS B (hOpME MUCHbMEHHOTO TE€CTa U COCTOUT W3
YETBIPEX YACTEM.

CoaepixaHue BCTYNMTEJbHOI0 9K3aMeHa

Yacre 1 (I'pammatuka) BrmovaeT 20 3amaHuii MHOKECTBEHHOT'O BBIOOpA Ha
NPOBEPKY TIpaMMAaTHYECKUX HABBIKOB COMCKAaTeNlel W WX YMEHHUS MpPaBHIBHO
MCIIOJIB30BaTh TpaMMaTudeckue (popMal.

Bapuantel 3amanmii: 1. Haligute ommOKy B NpeIjioKE€HHWH, BbIOpAaB OJHO W3
MOTYEPKHYTHIX clioB win BeipakeHuit (Choose the underlined word or phrase that
IS not correct and should be changed); 2. JlononauTe npenioxeHue, BHIOPAB OMH
U3 MpeaioxeHHbx BapuantoB (Choose the most appropriate answer to complete
the sentence).

PexomenayemMoe Bpems Ha BbloJIHEHUE yacTH «I'pammatuka» - 20 MUHYT.

MakcumanbHOe KOJTU4ecTBO 0auioB 3a pasnen — 40.

Yacrp 2 (Jlekcnka) Brimrodaer 10 3a1aHuii Ha IPOBEPKY JIGKCHYSCKMX HABBIKOB
COMCKATEJIeN U MX YMEHUS OCYIIECTBIISITh HEOOXOIMMbIE CTIOBOOOpA30BaTEILHbIE
TpaHchopmanyi. COMCKaTENH T0JKHBI TPOJEMOHCTPUPOBATH 3HAHUE AHTIIUICKON
JIEKCUKH U (pa3eoJOTu U YMEHHUE IPaBUIILHO UCIIOIb30BaTh CIOBA B MPEJI0KEHHOM
KOHTEKCTe. B maHHOM 650K MCIONIb3yeTcsl CIeAYIONINi THIl 3aanuii. JlononHure
HpeIoKeHUE, BEIOpAaB OJIMH M3 MpeaoxKeHHbIX BapuanToB (Choose the most
appropriate answer to complete the sentence).

Pexomenmyemoe Bpems Ha BbINOTHEHHE yacTu «JIlekcuka» — 10 MunyT.

MakcuManibHOE KOJIMUeCcTBO 0asioB 3a pasueln — 20.

Yacrtp 3 (SI3bIK03HAHME) BKIIOYACT 5 3aaHU, KOTOPbIC BKIIOYAIOT MaTepUal

CIEQYIOIMNX NUCHUIUINH: TEOPETUYECKAS] TPAMMATHUKA, JICKCUKOJIOTHS U CTHUJIMCTHUKA.
PexomeHtyeMoe BpeMsi Ha BBITIOJIHEHUE YacTH «SI3bIko3HaHue» — 10 MUHYT.
MakcuManibHOE KOJIMUeCcTBO 0asioB 3a pasuen — 20.

Yactpb 4 (ITucsmo) npencrasnsieT coO0M MUCBMEHHYIO paOOTy, COCTOSIIYIO U3
HalMCaHusg KOMMEHTapusi. B KoMMeHTapuu HEOOXOAMMO BBIPA3UTh COOCTBEHHOE
OTHOIIIEHUE K MMO3UIIUU aBTOPA BHICKA3BIBAHUS, TIPEITIOKEHHOTO HA KOMMEHTapHUH.

O6bem kommeHtapuss — 150-250 cnoB. KosuyecTBO — aprymeHToB,
HEOOXOAMMBIX ISl TIOATBEPKIACHUSA, UM ONpoOBepKeHus uaeu aBtopa — 3. Kpome
TOTO, KOMMEHTApUH JTOHKEH OBITh JIOTHYECKH BBICTPOCH M COJIepKaTh BCTYIUICHHE U
3aKJIFOYCHUE.

Couckarenu AO0KHBI MPOJIEMOHCTPUPOBATh JIEKCUUECKHUE, TPAMMATUYECKUE U
opdorpaduueckne HaBBIKM OG(DOPMIICHHS TMHCHMEHHOM peuYd, a TaKKE YMCHHE
0(OPMHUTH BBICKA3bIBAHNE COTJIACHO CYIIECTBYIONIUM B aHTJIMCKOM SI3bIKE HOPMaM.

Pexomenmyemoe Bpems Ha BeinodHeHUE YacTh «[Iucbmo» — 20 MUHYT.

MakcuMalnbHOE KoJInuecTBO 0asioB 3a pasnaen — 20.



KPUTEPUU OLNEHUBAHUSA

Ka;moe IMPaBHUJIBHO BBIIIOJIHCHHOC 3aAdHHC B pa3aciiaXx «rpaMMaTI/IKa» u
«JIexkcukay» O CHHUBACTCA B 2 Oaja. 33.,[[3,HI/I€ B pa3aciic «SI3BIKO3HAHMEY
O CHHUBACTCA B 4 6amra. MakcuMaJIbHOE KOJIMYECTBO OAJIIOB 3a TCCTOBYIO 9aCTb —
80.

Tabauya 1. Pacnpeoenenue 3a0anuti 5K3aMeHAYUOHHOU pabombvl o pazoenam.

Paznen Bpewms KomuuectBo KomnuecTBo
BEITIOJTHCHHUS BOITPOCOB OayoB
1. I'pammaruka 20 MuH 20 40
2. Jlexcuka 10 MmuH 10 20
3. SI3pIKO3HaAHUE 10 Mmun 5 20
4. TlucbMeHHBIN 20 MuH 20
KOMMEHTapui
Hroro 60 MuH 35 BompocoB 100

OreHka 3a MICEMEHHYO YacTh CKIIAJBIBACTCS U3 OICHKH 3a coaepykanue (12
OaJIJIOB) W OLICHKH 3a s13bIKoBOe oopmiieHue (8 6amioB). OneHka 3a cofepKaHue, B
CBOIO OYepe/ib, CKJIA/ILIBACTCS M3 OIICHOK 3a apryMEHThI (KaxIblii 1o 3 Oaiia) u 3a
JIOTUKY u3nokeHus (3 6asuia). bamibl 3a TOTMKY CHUMAOTCA, €CJIM B KOMMEHTapHUU
HET BCTYIUICHUS, 3aKJIIOYEHHUS, OTCYTCTBYIOT JIOTHUECKHUE CBSI3KH, WJIM B HHX
norytieHsl omuoku. OleHKa 3a sS3bIK0Boe 0(hOPMIICHHE BKIIIOUAET TAKHE aCIIEKTHI,
KaK JIEKCHKa, rpaMMaTuka, opdorpadus v myHKTyarus. MakcuMmanbHbIA Oat 3a
JICKCUKY U TpaMMaTHKy — 4, 3a opdorpaduro 1 myHKTyaIuo — 4.

Tabauya 2. Pacuem oyenku 3a nucbMeHnHoe 3a0anue.

Conepxanue aprymesr 1 3 Oaa 12 6aimioB
apryMEHT 2 3 Gama
apryMeHT 3 3 Gama

Jloruka 3 Gama
U3JI0KEHUS
(Hanuyme
BCTYILJICHUSI,
3aKITIOYCHUS U
JIOTUYECKUX
CBSI30K)

SI3pIKOBOE I'pammartuka u 4 Gamna 8 6amnoB
odopmiieHUE Jlekcuka
Opdorpadus u 4 6amna
MYHKTYaIus

Htoro 20 GatoB




Oo0pa3sen Tecta

PART 1. GRAMMAR (40 points)

For questions 1-10 choose the underlined word or phrase that is not correct and
should be changed.

1.
a)
b)
c)
d)

2.
a)
b)
c)
d)

3.

a)
b)
c)
d)

4.

a)
b)
c)
d)

5.

a)
b)
c)
d)

6.
a)
b)
c)
d)

7.

Yesterday’s results of the test showed that our shop-girls were prettier than their.
showed
yesterday’s

their
prettier
He said that, “You’ll be sorry for that and regret staying here for so long.”

that
for
staying
so long

—Why did he address to her as ‘Mrs.Joyce?’ — Her second husband’s name’s
Joyce.

as

husband’s

name’s

to her

It is difficult for someone with my character to stay in a hospital and use tablets
reqularly.

for

in a hospital

with

regularly

| am not used to be taken out. But this time I’d rather go to a restaurant instead
of having a tea party at home.

go

to be taken

having

at home

They rode in silence for a moment, church disappearing behind them.
rode

in silence

for

church

Ben used to meet her after the school every day and see her home in his car.




a) after the school
b) used to meet
c) see her home
d) in

8. I’m a little bit tired. I’d rather not to go out this evening, if you don’t mind.
a) nottogo
b) a little bit
c) this evening
d) don’t mind

9. Why are you taking all the bread crumbs from the table? Will you feed the birds?
a) are you taking

b) will you feed

c) the

d) from

10. He could choose another career but, at that time, he didn’t have enough money to
attend graduate school.

a) another

b) didn’t have

c) enough money

d) could choose

For questions 11-20 choose the answer that best completes the sentence.

11.Fred to be a policeman.
a) istall not enough

b) is not enough tall

c) is not tall enough

d) is not rather tall

12. He came later than usual the incident.
a) because of

b) for

c) but for

d) dueto

13. Make sure that the table . We are pressed for time.
a) will be laid

b) was laid

c) islain

d) islaid

14. Can you tell me when he ?
a) moved

b) has moved

¢) had moved



d) had been moving

15. If they , everyone can have a chance to speak.
a) took turns answering

b) would take turns answering

c) take turns answering

d) are taking turns answering

16. The thief wore gloves fingerprints.
a) toavoid leaving
b) to avoid to leave
C) so that not leave
d) to prevent from

17.0ur uncle spent money on the cottage that he went bankrupt.
a) So many

b) such many

c) agreat deal of

d) so much

18.“See this”, Guy said as if Patrick a choice.
a) had had

b) had

c) has had

d) has

19. There reporters on the square.
a) were dozens of

b) were a dozen of

c) was dozen of

d) were dozens

20.I’m a bit tired. I’d rather out this evening.
a) notgo

b) notto go

c) didn’t go

d) hasn’t gone

PART 2. VOCABULARY (20 points)

For questions 21-30 choose the most appropriate answer to complete the sentence.

21. As happy as

a) alord

b) a hatter

c) asand boy

d) achurch mouse



22. Which word does not finish the idiom “as bright as a ”?
a) cucumber

b) button

C) new penny

d) new pin

23. There are always in business.
a) ups and downs

b) pros and cons

c) odds and ends

d) bits and pieces

24.To get an apartment in the center of this city you have to pay through the

a) nose
b) mouth
c) neck
d) head

25. She went from to riches.
a) rags
b) pie
C) song
d) dogs

26. You can’t with your eyes.
a) glare
b) peep
c) blink
d) yawn

27. The customer complained about poor and service they received at this
hotel.

a) accommodation

b) shelter

c) housing

d) stay

28. Shopping is an important part of today’s society.
a) buyer

b) seller

C) consumer

d) producer

29. | had to think because the decision was very risky.
a) comprehensively
b) profoundly



c) reluctantly
d) simultaneously

30. All the animals living on the planet are important however or
unappealing they may appear.

a) unavailable

b) indispensable

c) insignificant

d) inevitable

PART 3. LEXICOLOGY, THEORETICAL GRAMMAR AND STYLISTICS (20
points)

For questions and tasks 31-35 choose the most appropriate variant.
31. Is the word with a grammatical suffix (an inflection).

a) “teacher”
b) “longer”

c) “likeness”
d) “hostess”

32. Define the stylistic means used in the following sentence: ‘Entering the
Blessington Street drawing-room on Monday he had felt the pang of a delicious
fear’ (from The Red and the Green by Iris Murdoch).

a) oxymoron
b) metaphor
c) allegory

d) irony

33. The repetition of a closing word or words of several successive clauses, sentences
or verses is called

a) epiphora
b) anaphora
c) anadiplosis
d) framing

34. The category of degrees of comparison in the English language is established by
means of a/an opposition.

a) equipollent
b) privative
c) gradual

d) binary



35. Identify the rheme in the sentence: In the centre of the room, under the chandelier,
as became a host, stood the head of the family, old Jolyon himself (from The Man
of Property by John Galsworthy).

a) the head of the family, old Jolyon himself
b) stood

c) In the centre of the room

d) as became a host

PART 4. WRITING (20 points)

Choose one of the given statements for your commentary. Within a paragraph of
140-200 words express your opinion giving 3 arguments for / against it.

1. “Language is the road map of a culture. It tells you where its people come from

and where they are going.” (Rita Mae Brown)

“The Internet is just a world passing around notes in a classroom” (Jon Stewart)

3. “If you have to put someone on a pedestal, put teachers. They are society’s
heroes” (Guy Kawasaki)

N
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